
-3.16dB
@ 4MHz

Z99SC-62-S+

1Watt max
0.5 to 600MHz
50ohms

SUM0° 

0.5 to 500MHz

ZFL-500+

24dB 
@ 12v

Low noise , 4.2dB
80mA 15v

IN OUT IN OUT

COUPLED

-20dB 

ZX30-20-4-S+ ACX1345-ND

ZX47-50LN+

-45dB 10dBm 

MAIN
SUM

RF IN

DC OUT

10MHz to 1000MHz

Input Power +22dBm
5.7v 120mA

TEMP

D1000064-v1

RF Distribution Amplier

Mon 1

5 to 1000MHz
Directivity:
 21dB at 20MHz

-0.9dB 

Block Diagram for Squeezer 3.125Mhz Combiner for O4_D2100764-v2
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Pre-Amp
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-17dBm Signal

-17.25dBm Signal
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LRM195 cable
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13.75ft

13.75ft

50ft

50ft

Feedthrough
SMA

-0.25dB

-0.25dB

-18dBm Signal

-18dBm Signal

P2

3.01dB
Combiner loss 0.15dB
3.01+0.15=3.16dB

𝑃 𝑑𝐵𝑚 = 10 log
𝑣2

50𝑜ℎ𝑚𝑠𝑥 1𝑚𝑊

𝑉 𝑟𝑚𝑠 =
50𝑜ℎ𝑚𝑠

1000
𝑥 10

𝑑𝐵𝑚

20

-0.25dB

-0.25dB

-0.25dB

-0.25dB

𝑃ℎ𝑜𝑡𝑜𝑑𝑖𝑜𝑑𝑒𝑅𝑒𝑠𝑝𝑜𝑛𝑠𝑖𝑣𝑖𝑡𝑦= 0.85
𝐴

𝑊

𝐿𝑜𝑎𝑑 𝑅𝑒𝑠𝑖𝑠𝑡𝑜𝑟= 50𝑜ℎ𝑚𝑠= 50
𝑉

𝐴

𝑇𝑟𝑎𝑛𝑠𝑖𝑚𝑝𝑒𝑑𝑎𝑛𝑐𝑒𝐺𝑎𝑖𝑛 = 12.3
𝑉

𝐴

𝑅𝑒𝑠𝑝𝑜𝑛𝑠𝑖𝑣𝑖𝑡𝑦= 𝑅λ =
𝐼𝑃
𝑃

(
𝐴

𝑊
)

𝐶𝑢𝑟𝑟𝑒𝑛𝑡 𝑃ℎ𝑜𝑡𝑜𝑛𝑠 = 𝑅λ
𝐴

𝑊
𝑥 𝑃 𝑊 = (𝐴)

𝐼 = 0.85
𝐴

𝑊
𝑥 63𝜇𝑊 = 53.55𝜇A

63𝜇𝑊 𝑥 0.85
𝐴

𝑊
𝑥 50

𝑉

𝐴
𝑥 12.3

𝑉

𝐴
= 32.93𝑚𝑉 = −16.637𝑑𝐵𝑚= −17𝑑𝐵𝑚

𝑃ℎ𝑜𝑡𝑜𝑑𝑖𝑜𝑑𝑒𝑝𝑜𝑤𝑒𝑟 = 20𝑚𝑊

𝐼𝐹𝑂 𝑠𝑖𝑔𝑛𝑎𝑙 𝑓𝑟𝑜𝑚𝑜𝑢𝑡 𝑡ℎ𝑒 𝑂𝑀𝐶 = 100𝑚𝑊

100𝑛𝑊 ∗ 20𝑚𝑊∗ 2 = 63𝜇𝑊

𝑆𝑆𝐵 = 2

𝐼𝐹𝑂 𝑠𝑖𝑔𝑛𝑎𝑙 𝑜𝑢𝑡 𝑂𝑀𝐶 ∗ 𝑃ℎ𝑜𝑡𝑜𝑑𝑖𝑜𝑑𝑒𝑃𝑜𝑤𝑒𝑟 ∗ 𝑆𝑆𝐵

𝑎𝑑𝑑𝑖𝑛𝑔 𝑡ℎ𝑒 𝑡𝑟𝑎𝑛𝑠𝑖𝑚𝑝𝑒𝑑𝑎𝑛𝑐𝑒𝑔𝑎𝑖𝑛 𝑎𝑛𝑑𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦𝑖𝑛𝑔𝑡ℎ𝑒 50𝑜ℎ𝑚𝑠 𝑙𝑜𝑎𝑑 𝑡𝑜 𝑔𝑒𝑡 𝑡ℎ𝑒 𝑣𝑜𝑙𝑡𝑎𝑔𝑒

𝑉Total = I A x 12.3
V

A
x 50

V

A
= 53.55𝜇A x 12.3

V

A
x 50

V

𝐴
= 32.93𝑚𝑉

𝑣𝑜𝑙𝑡𝑠 𝑡𝑜 𝑑𝑏𝑚

𝑃 𝑑𝐵𝑚 = 10 log
0.032932

50𝑜ℎ𝑚𝑠𝑥 1𝑚𝑊
= −16.637𝑑𝐵𝑚= −17𝑑𝐵𝑚
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